HENVRY CARDENAS
ToM RE BolL D
eEver T

MPAT 1S5, 2018

ALl
1' ' I
I T ‘
A= t | | i 36 L k
2% +iby = {264135) '[ o
15 =14y =z - 165) 7 lSo]
A\b ... Ly = -26 -52] (A)

To ol —-24]-5%; (A)

s THEVENMN PHASoR

Rty =/5+10; |2 [8fF £ 163.43

Vab |z (D&l 2 0 (5Vs £ -63%.43) = 50(?;-—63.935‘

LVQL, = 111.803 £ - 63.435° (v) |



HEMRY

2) NORTON pHASOR

Y 258

6245 °V | L1,

I, = Vv W 7 3624s°
Ry |
Re = 4 +2;]=lzJs « 2£.45¢5

Th = 8.050 £18.437] (a)

Vi () __,V_l_. ~ 82 40® 4 Vi Lo}
. 2 ‘ 5; 5
V[ __L ‘._.‘-- — |
(z * 5_,) = 8euo®
! = ¥ »* T o - 1 ‘ \ '
(s(§) = 8 cos(Zt «~ 4O°) A - 8Lyo® Vi —,f‘z—;.{_-zl-s") = 8 Lyp?
w<= 2 _
\/l = 79./'_&{0”
gL F ij = | 6§ ;J;r"‘;lé-aig
Lol Lo : | |
Z(. = -'—‘;‘E e —— e —J 3 &
J J Vi = [4.86 < €1.820
Z1 = 53

ﬁ/" (¢) = I4.36 cos (2t « él,so")l (v)

CArDEAMAS



HeEwv Ry C(ARDENAS

Vs ()

Vs(4) = 30 cos (20001t + 30°)V W = 20007
Vs(4) = F02430° = 353 + 35,
ZL‘-'-; J'v/l, = Zoﬂ'\j

Zi = (\)wc_)" E Pl?—oj
1

Ia: -(3513 +355) + %0Ja (ﬂa-llb)zoﬁj =0
(50 + zonj)[[q_ s (zorr\',)]IL = 3s{l3 |+ 35,
Db 2 (Ob-Ia)2omy «+ ("%?j)m’ £ 300 =9

__Zoﬁ-j Hq + (30 t 201 _L?_))Hb = Q

IIA Hb K
50 +20m; - 20} 3513 + 35,
- 20m, 30 + 204) f%‘} ©

Ta = ©.5282 « O"EZIS‘)

Ib = ©.2240 + 0.8684;

-

E{) = Q. 62Y4Y cos (2000wt - 61.16°) A]

() = o -Mb- 0.312 - 05449, = 0.6249 £ -6(.16°




HevrRY CARDE MAS

Yo; N
q
35.0° 244
b
—-27_") JL
VOLTALE  OlV(DER Vab = Va4

Vab = -+5< 2 )V

%oj-uj + 2N

Wab = 4¥- 365 = 6o ¢ -36.8%°

V—rﬂ = 60(_-36.9?‘:’)

ZTH (5 ook BACK (MPEDANCE WITH F540°

SovRcE TURA ED oFF

4o,
q
AR N Era = 21 ” ity
_{{ alb ErH = ZM» ng
225 Z{ +1\8,

Zry = Zl6 2¢8
2§ T s Y

Ll 5 8.64 ¢ ll-SzJ'v]




HEAMRY CARDEWAS

I;: - 10 + ZI, - Z—J II t (I\ 'I‘(_)SJ t (f;—IB)S = O
R i = SRR S T TR R S e T

(2-25 +55+8)T, + (5L, « (-S)I5 = I0

1

T (L.-I)5; + (5¢20°) + 10Ty + (Fi-Is)(-1)) # (T2-I3)2 = O

B_*é,ég/L tors e 25T x ¥ R 2E - 2as 5 ~(5430)

('S'J)Is + (55 +10-2; *‘7_> I + (ZJ —2)I3 - -5z S .

3 z | =7
Is: 101y + (T3 SHEIE (I, '11)7— + (Is = Il) (’ZD = 0
% 1—/5{3 -/5{’, 1—%—2_;:_{ -'Z.JI“A + ZE’ 2 =0
(-1, v (-2 +2))Te ¢ (10+5v2-2))13 = o
I.| II Is k
343 -5; -5 10 ] Isz o2z 0.0es;
syl | 1paBj  v2t7y | siB s
2
-5 -2+ [T -2; o Vx = -10-T,
J
Nx = =10-I3 = — 4.2209 + [.0645]

R

(V( = Y.853 £ [£5.8 v




HEWRY CARDENAS

{

5 2) 1
%-— _5.-9 + ZVZ + /V{ — '\f_?; = 0
3 J Y 1
| [
(—é- + ;_l: 4 —;)V\ - *'\/L — fe)
EL —d
Vo Vz_ -~V + Va + Vi - 50) -
4 e 2

Vi \/L K
= .. ;
=1 2 | 25 V. 2= 20 3547 + 2%.3¢;
1 ERREX 7 ‘
I =V . 35%32+B358, _ | 7928 - 3.2%3¢;
2 2 |

{1[ J1g.32 2 - 1.1 a

— t \




240% v
VTn —13;L + L Voo
XK
2)
V¢ 1L a
I 1
= L L 0
Yo £
| = 2 Z

HEVRY CARDENAS



HENRY CARDEWAS

lal ja = LSIL - ja —1&L = O

- |

bl |~z |+l 25Ciblia) [~ (iblid) = b
Zj,b -2jia ~ib+ Yiic = 2 |
~2jliqa! =250k £ Yjic =2
(=3

3

et | “GCic-ibY ! x| 2ic| =@
“Y5ic + M5ib +2:c ToO
L“I_}'.)o H (e-Hi¢ E P

ConsS | ial-tb = L1 lial=libl=iL F ©
!_ ! iy
1ou ' b e i a
— - ]
( e) @) ~LS o
~2y |2, 4y 0 2
| ' 1 ( [
2-Y 0] Q ¢ T -4+ L.
0 U ) : 4 i
~1 o) ~1 o |
L ! 3
i = IN = %,r _L.;, Zau | =] Vru |- t I\
tN ERE R




